
Post learning assessment  
Subtraction Year 5  

 
 
 

1) Subtract 16 from 108 
 
 
 
 
 
 
 
 
 
 

2)  1285 – 21 =  
 
 
 
 
 
 
 
 
 

3) 672 – 562 = 
 
 
 
 
 
 
 
 
 
 

 

 

 



 
 

4)  28783 – 15251 = 
 
 
 
 
 
 
 
 
 
 

5)Take away 1282 from 56295.  
 

 
 
 
 
 
 
 
 
 

6) 548921- 36710 = 
 
 
 
 
 
 
 
 
 
 

 

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

 

 

 



7) 43251 – 18139 =  
 
 
 
 
 
 
 
 
 
 

 
8) 65046- 48517 =  

 
 
 
 
 
 
 
 
 

 
9) 177.90- 13.05 =  

 
 
 
 
 
 
 
 
 

 
 
 
 

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

          

  

 

 



10)Mr Changi  has a budget of £855 to spend on equipment for 
his class over the year.  In September, he spends £356.70 on 
equipment. He then makes another order in January for 
£289.16. How much money does he have left to spend in April?  
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